
  ©2013 DJI Innovations. All Rights Reserved.                                             |  

PHANTOM Prop Guard Assembly Instruction V1.0 

PHANTOM 桨保护器安装说明 V1.0 

Please carry out the following procedures to attach the Prop Guard to the aircraft. 

请按照下面步骤安装桨保护器。 

1. Prepare the aircraft, Prop Guard (4 pcs), M3.0x12 Screws (8 pcs), a thread and an allen driver. 

准备 PHANTOM 飞行器、桨保护器(4 个)、M3.0x12 螺丝(8 颗)、保护线、内六角螺丝刀。 

2. Use the screw driver to remover the screws on the four motors (M3.0x8) of PHANTOM marked in blue in Fig.1. 

使用螺丝刀卸下原 PHANTOM 四个电机上的螺丝(M3.0x8)。(如图 1 蓝色标记) 

3. Fix the Screws of M3.0x12 with appropriate strength（Fig.1）to mount the four Prop Guards on the PHANTOM . 

Note that thread lock is not allowed. 

按照图 1 所示，适当用力拧紧螺丝(M3.0x12)，装好四个 PHANTOM 桨保护器。不可以使用螺丝胶。 

4. For better protection, please attach a thread through the Prop Guard, note that the thread should be under the 

Prop Guards（Fig.2）. Finish.  

为了起到更好的保护作用，可按照图 2 所示，将保护线连到桨保护器上，注意穿线时线都在桨保护器底部。

安装完毕。 

 
Fig.1 Prop Guard Installation Diagram /图 1 桨保护器安装示意图 

 
Fig.2 Installation is OK/图 2 正确安装示意图 

Specifications/参数 

Weight（Single）/重量（单个）：18.7g 

Size(Single)/单个尺寸：Angle/角度(155.0o) 

Radius/半径(112.32mm) 

Whole Size with Four Prop Guards /安装后最大

外形尺寸：575.5mm 

 

 


